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QUESTION 1

Given the query shown below: 

What will happen? 

A. All rows will be retrieved in which item_desc contains the characters \\'pencil\\'. 

B. All rows will be retrieved in which item_desc does not contain the characters \\'pencil\\'. 

C. All rows will be retrieved in which item_desc contains the letters \\'p\\', \\'e\\', \\'n\\', \\'c\\', \\'i\\' and \\'l\\' in any order. 

D. All rows will be retrieved in which item_desc contains the letters "P\\', \\'E\\', \\'N, C\\', I\\' and \\'L\\' in any order. 

Correct Answer: A 

 

QUESTION 2

User A creates a User Defined Routine (UDR). Which privilege must be granted to other users before they can run user
A\\'s UDR? 

A. DBA on the database 

B. EXECUTE on the procedure 

C. RESOURCE on the database 

D. SELECT on the tables used in the procedure 

Correct Answer: B 

 

QUESTION 3

What are two system level databases? (Choose two.) 

A. sysperf 

B. sysadmin 

C. sysmaster 

D. sysmonitor 

E. sysscheduler 
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Correct Answer: BC 

 

QUESTION 4

Which two events can initiate a trigger on a table? (Choose two.) 

A. DROP 

B. ALTER 

C. INSERT 

D. SELECT 

E. TRUNCATE 

Correct Answer: CD 

 

QUESTION 5

Which one of the following is most suitable for scheduling the periodic collection of data about an instance? 

A. Sensor 

B. Trigger 

C. Stored Procedure 

D. User Defined Routine 

Correct Answer: A 
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